


Gas taps MADEC

page 4

page 6

page 8

page 14

page 20

page 24

www.electrolux.mk



Gas taps STN3R
page 26
Gas taps COPRECI
page 27
Gas taps SABAF
page 28
G
page 29

www.electrolux.mk




. —————————————

gas taps MADEC

om order os. deseription s inpat o noezles (mm) mixiog pige fipe Usrmononpie Trant falgg L2 (mm spindle {mm)
comnaclion conogelion
wntarne] Intarnal byposss oltpit o lnm)
nazilo mzele ozl
101629 MI2xI (8mm) - - 0.55 - M 12xI 8 M38xlI MI2xI 29.5/21

101638  pipe outlet MI2x1 (8mm) - - 1,00 - MI2xI 8 MBxI M1 2xI 29.5/21 s
101074 MI12x1 (8mm) - - 0,35 - Mi2x1 8 M8xl MI2xI 29.,5/21 Q:
B
101072 MI2xI (8mm) - - 0.35 - MI2xI 8 M8xl MI12xI 29.5/13,5 8
101193 MI2xI (8mm) - = 0.35 MI7xl - “ M8&xI MI2xI  23/135 5
101073 MI2xI (8mm) - - 0,35 M I7xI - - M8xI M 12xI 23/13,5 g
8
S
106034 MI2xI (8mm) - - 0,35 M 17xI - - M8xI MI12xI 295/13,5 pT
3 nozzle outlet i
106174 without nozzle MI2x| (8mm) - - 0.35 MI17xI - - M8xlI M12xI 23/13,5 @
G . c ,
101194 MI2xI (8mm) - - 0.35 MI7xI - - M8xI MI2xI 17/9
Eaﬁ
8
101635 MI2x1 (8min) - - 0,55 MI7xI1 - - MExI M 12xI 37/17 i
101374 MI2x| (8mm) 0.85 - 0,50 MI17xI| - - M8xI MI2x| 29.5/21 g
101198 MI2xI (8mm) 2,00  0.70 0.35 MI7xI - - M8xl M 2xI 29.5/21 QE
4 101381  nozzle outlet MI12x! (8mm) 085 - 0,50 MI7xI - - MBxI M 12xI 29,5/21
with nozzle 6
J4.
101631 MI2xI (8mm) 220 1.20 0,55 MI17xI - - MExI M 12xI 3717

www.electrolux.mk



fam  otdor po. duseription gt Inpat & mozdos {rem) mixing. pipe fipe thermocoupl Troat, 1ing L/ 42 Ym) apindlo o)
comneation connactian
ettorml el bypuss ot e o)
nozzle nozilo midle
101192 MI12x1(8mm) - - - MI17x1 - - M2@xI MI2x1  23/13.5 3
| nozzle outlet
without nozzle
106019 MI2x1(8mm) - - - MI7xl - - MB8x1 - 29.5/13,5 o
2 106058 nozzle outlet Nange 1,03 - - MI7xI - 18 M8x1 - 29,5/13,5 g
with nozzle connection 5
3 106020 pipe outlet with Nange - - 1,40 - MI12xl 8 Mg8x|1 MI2x1 29120
clip connection connection 46
o 25 mm ¢
4 106057 pipe outlet with flange - - 0 - MI2x) 8 Mgx| - 2715

clip connection connection gzﬁ
o 2lmm

accessories and spare parts

external nozzles M12x1 bypass nozzles
ms ot ool g o (i) w5 order Mo, & {mn) 1 wsonkr o, o (mp) s onar o {om) ws onke o & (mn) G
1100974 0,80 18 100287 1,45 35 100309 230 I 100360 0.35 4 100426 0,55 7 100424 080
) 100279 0,82 19 100700 1,50 36 100668 2,35 7 s 100425 045 2 5 100781 0,60 R 100454 1,000 =
3100249 085 20 100301 1,55 37 100294 2,40 3 100782 050 6 100427 0.70
4 100283 090 21 100665 1.60 38 100749 245
5 100280 093 22 100239 165 39 100326 2.50 .
6 100282 095 23 100288 1,70 40 100416 255 ’ ﬁ \‘\_ %
7 100284 1,00 24 100878 1,75 41 100304 2,60 1 9 2 & 3‘&; 4 5 =~
& 100662 1,05 25 100289 1.80 42 100295 2,70
9 100285 1,10 26 100302 1.85 43 100305 300 i ol . deseiptian Mo okra decriplon
10 100243 1,12 27 100290 1,90 44 100752 3,20 1 101277  olive for pipe o 8mm 4 101051  magnetic shim
11 100663 1,15 28 100740 1,95 45 100296 3,30 i 2 ]6] 592 u;ﬁoTl;ul I\;I 12x1 for . 5 = 101234 3 magnetic shim nut &
12100306 120 29 100291 200 46 100297 345 P Einm mﬁ‘f“m’m"”'e

13100975 125 30 100303 2,05 47 100298 3,50 i 3101299 front fixing mut
14 100286 1.30 31 100292 2,10 48 100299 3,70 MI2x1

15 100300 135 32 100744 2,12 49 100763 3,80
16 100669 137 33 100308 2,15 50 102794 3,85
17 100307 140 34100293 220 51 100762 4,10

internal nozzles

o oder an » {wm) s onder mo, o. i) s order na. A iem  ordor m. daeription em onder o dsscription
1 101400  mixing pipe M17x1 3 101394 nutMI7x1
1100325 0,70 5 100788 0,95 9 100423 140 0 il
2 101401  mixing pipe M17x1
2 100419 0,75 6 100449 1,00 10 100771 1.55 —
3 100421 0,80 7 100422 1,20 11100770  1.65
4 100774 0,85 g8 100772 130

www.electrolux.mk 5



Gas taps

gas taps PEL 20/21

tary arfler 0. denaription £ inpal o fipo dnpet ) 8 bypysy wsrzle fm) g5 oallat o pipe dolit (mm) Lhormaceaple VL2 (miw)  apindle dmm)
‘connection (o)
I 101398 PEL20N without safety.  MI6x1,5 10 0,35 Ml6xI1.5  10/8 B 22/15 65
without ignition flame 3
101094 Mi6xL.5 10 0.35 Mi6xl,5 1078 M8x | 22/15 5
L 101491 pEL20S with safery, MI6x1.5 10 0,35 Miexls 1078 MOxl 22/15 8
loross “ilbeulignitionfame  “op T 0 Ml6xL5 10/ M8xl 39/15 5
)
flam  ondr w0, descrition @S ingot & pign ingel tmm) # bypess nozzlo. {mm) s otlat # pipe oatlal {mm) /42 (mm) spindls {mm)
conmoction. (i)
1 101530 PEL2{N without safety,  MI6x1.5 10 0,35 MI6x1.5  10/8 . 22/15
with ignition flame i
]
101693 Mi6x1.3 10 0.70 Mi6x1.5  10/8 M8xI 35/28 p
Q 3 . 3/
o MI6x1,5 10 0.90 Ml6x1,5  10/8 M8xI 35/28 Q:
101095 Mi6xI.5 10 0.35 Ml6x1,5  10/8 M8xI 22/15
101356 MI6xI.5 10 0,35 Ml6x1,5  10/8 Miex| 22/15
101883 Mi6xI.5 10 0,40 MI6xI5  10/8 M8xI 22/15 6.5
101884 MI6x1,5 10 0.50 Mi6x15  10/8 M8xI 22/15 ]
2101885 MiE6xLs 10 0.80 Ml6x1.5  10/8 M8xI 2215
106021  PEL21S with safety, MI6x15 10 0.95 MI6x1.5  10/8 MS8xI 22/15
with ignition flame
101397 MI6xI5 10 0.35 Ml6x1,5  10/8 MOx | 22/15 s
]
101917 MI6x1.5 10 0,60 MI6x15  10/8 MOx | 22/15
101918 MI6xI.5 10 0.65 MI6x1,5  10/8 MOxI 22/15 8
101919 MI6x15 10 0.75 Ml6x1,5  10/8 MOx | 22/15 6.5
3106138 Mi6xI.5 10 0 Mlex| 6 MOxI 3715 T
]

www.electrolux.mk



——————————————————————

"

2
s ordor g0, dexcption 8 g5 inpt (o) o ypss ezl fmw) 5 ootlat 6 pipe oetlol (om) Weromawple comaction () L4A2 ol sindls {wm)
101897 il 035 M16x1,5 10/8 M8x1 32/25 65
1 8
101544 21 0,35 Ml6x1,5 10/8 M8xI 30/23
101610 21 0.35 MIi6xl,5 10 M38x1 30/23
101671 PEL2ISwithsafey, 5 0.35 M17xl 10 M8x| 30/23 46
—— with ignitton lame
101672 21 0.85 MI7x1 10 M8x1 30/23
2 101976 | 0.35 M17x1 10 M8xI 30/17,5
101682 24 0,35 MI7x1 10 M8x1 31745
6.5
9
3 106143 PEL20 with safety, 2 0.35 M16x1.5 10/8 MoxI 22/15
without ignition flame 6.5
8

o order o, descriplion u g% Inpel (mm) 5 bypess nmale {mm) 28 oothet o fipe oiller dmmb thermocozple cenmatinn {mm) L1712 {mm) windls {vml
319 i
L ogTas BEAZINGthESEL, o 0.35 MI6xl.5  10/8 2 2/15
with ignition flame 6.5
S
0145 POR2ISwath safery, 20 0.35 Mi6xl.5  10/8 MoxI 22/15 8
p withignition flame
2 . —
6y CELZISV withsaldly, 2 035 MI6x.S 108 M8x | 30/17.5

withignition Hame

b : TN ’ 4.6
3 lecpop THEMSELWIC ey 21 0 Mi6xl,5 10 M8x| 45119 ?
with ignition lame

www.electrolux.mk



Gas taps

gas taps PEL 22
PEL 22N without safety

£
¢ ¥

2,

em o oedir 10, deseription o5 (Bl o s Dpat, (mm) 8 hypees tarzle (o) gos outlet ® fige cutlet {mm) /42 tam) syindis (mm)
1 101443 PEL22N/O M20x 1,5 12 0.35 M20x1,5 12/10 25/17
101690 PEL22N/V M20x 1.5 12 0.35 M20x1.,5 12/10 2517 8
10
2 106169 PEL22N/V M20x1.3 12 0.35 M20x1.5 12/10 45/20 "
|4,
101459  PEL22N/O e2lmm - 0.35 M20x1.5 I2 39/7
6,5
5 Q
3 106157 PEL22N/O @ 27mm - 0.35 M20x1.5 14 39/7 @
8
6.5
lam orfor 0. description gag Ihput » fips infut {mm) 8 bypass wozb (nm) o8 qubist o pipo outle! (pm} (hermocoupla connaction LIZLZ {mm) apindla (mm)
101084  PEL22S/V M20x1,5 12 0.35 M20x1,5 12/10 M8xI 45/20 P
|4.
101157  PEL22S/V M20x1.5 12 0,35 M20x1.5 12/10 M8xlI 25/17
. 8
101341 PEL22S/V M20x1.5 12 0.35 M20x1.5 12710 M10xI 25/17 10
| 101457  PEL22S/V M20x1.5 12 0.35 M20xI1.5 12710 M8xlI 25/-
10
101798 PEL22S/V 3/8* - 0.35 3/8* - MI1OxI 25/- @
101793  PEL22S/V M20x1,5 12 0.90 M20xI,5 12/10 M8xi 45/20 @
101087 PEL22S/V M20x1.5 12 0.35 M20x1.5 12/10 MOxI 2517
8
106073 PEL22S/V M20x1,5 12 0.35 M20x1.,5  12/10 M8x 1 35/17
10
101981  PEL22S/V M20x1,5 12 0 M20x1.5 12/10 MOx| 34/26
- 101887 PEL22S/V M20x1.5 12 0 M20x1,5 12710 MOxI 25/17 g
- 10
107200 PEL22S/V M20x1,3 12 0 M20x1,5 12/10 MOxI 16/7
; LT
7

www.electrolux.mk



———————————————————

PEL 22S/0, output horizontal with safety

flam  onder po. description g2 inpt o pips inpat () o bypsss mozsla. (mm) g outlol o piga odtlel (om} thormedaiapla copmoction L1/L2 twm) spindla: (mm)
101086  PEL22S/0 M20x1.5 12 0.35 M20x1.5  12/10 MOx | 25/17
8
101510 PEL22S/O M20x1,5 12 0 M20x1,5  12/10 MOx | 25/17 =
101089  PEL22S/0 M20x1,5 12 035 M20x1.5  12/10 M8x | 25/17
8
10
109510  PEL22S/0 M20x1,5 12 130 M20x1.5  12/10 M&x| 25/17 @)
109513 PEL22S/0 M20x1.5 12 1,10 M20x1,5  12/10 M&x| 25/17
' lol0ss  PEL22S/O M20x1,5 12 0.35 M20x1,5 1210 M8x | 28/13
9
10
101090  PEL22S/0O M20x15 12 0.35 M20x1,5  12/10 M8x | 28/13
ﬂ io
0
106022 PEL22S/0 M20x1.5 12 035 M20x1.5  12/10 M&x| 45/20 % G
106056  PEL22S/0 M20x1.5 12 0.35 M20x1,5  12/10 MI0xI 4520 |a.
101949  PEL22S/O M20x1.5 12 0 M20x1.5  12/10 MOx | 25/17
8
101892  PEL22S/0 M20x1.5 12 035 M20x1,5  12/10 MOx | 25/17 =
2
106023  PEL22S/0 M20x1.5 12 0 M20x1,5  12/10 M&x| 29/19.5 @
@3 £
6 n
- ©
3101950 PEL22S/O M20x1.5 12 0.35 M20x1,5 12710 MOx | 25/17 o
@’
107201 PEL22S/0 M20x1,5 12 0 M20x1,5 12710 MOx | 16/7
L]
|7
4
106159  PEL22S/O M20x1.5 12 0 M20x1.5  12/10 MOx | 47/-

www.electrolux.mk



PEL 22 with safety and tube clamp

om  odar oo duscription. o gas it o) o Agpess nwzh (vm) P onllol o pige aatlet {mm) thormocouple. conmoelon L1762 (v} spindla {roml
101626  PEL22S/O 27 035 M20x1.3 12/10 M8xI 3521 g“ﬁ
101469  PEL22S/O 21 0,35 M20x1.3 12 MOxlI 39/7

of
|
6

101489  PEL22S/0 27 0.35 M20x1,5 14 M8xlI 3977

8
.5
101661  PEL22S/V 21 035 M20x1.5 12/10 M8xI 28/13
10

G PEL 23S with safety

[S)

8
9

Gas taps

om  udor W, dustription a8 inpul o pips (A from} 9 dypuss nextle (me) gss okl 8 pipe aotlot (m) Abermecoapin: coamchion /L2 (wm) sgtdle rom)
101893 PEL23S/O  M28xl.5 20 0.35 M24x1.5 16/12 MOx | 25/17 8
106033 PEL23S/O  M28xl5 20 0.35 M24xD5  16/12 MIONI 2517 0
101954  PEL23S/0  M28xl,5 20 1,70 M24x1.5 16/12 MIOx ! 25/17
| l iIO
101092 PEL23S/O  M28xI1.5 20 0,35 M24x1.5 16/12 MI10x! 25/17 E
101091  PEL23S/0  M28xl1.5 20 0,35 M24x1.5 16/12 MOx| 35/19
101953  PEL23S/V M28x1.5 20 A0S M24x1.5 16/12 MI10x! 25/17 ¥
101093 PEL23S/V  M28xl,5 20 0,35 M24x1.5 16/12 M10x1 25/17
8
2 10
101630 PEL23S/V  12“1D - 0,35 12“ET - M10xI 25/- @
10

10 www.electrolux.mk



accessories and spare parts for PEL 20/21 front parts

bypass nozzles

G = {

pob o oo, o mm) s oo o o {1m) s ondor mo, o () iem  order m, 1 W/ (o) spindla- (i)
1 100408 035 10 100555 080 I8 100532 1,20 I 101205 PEL 20 22/15
2 100553 0,40 11 100527 085 19 100394 1,25 106156  PEL 20 39/15
3 100554 045 12 100528  0.90 20 100533 1,30 101206  PEL 21 22/15 p'zs @
4 100526 0,50 13 100556 095 21 100549 1,35 101875 PEL 21 32/25 8
5 100550 055 14 100529  1.00 22 100534 140 106147 PEL 21 37/15
6 100531 0,60 15 100557 1,05 23 100558 1,55 101874 PEL 21 22/15
7 100548 0,65 16 100530 1,10 24 100559 1,70 } Q
g 100552 0,70 13 100581 LAS 25 100547 1,75 65 %
9 100278 0.75 2 101803 PEL21 30/23
101804  PEL 21 30/17,5 4.6
106149  PEL 21 45/19 QZG 6
106146 PEL 21 35/28
G ’& e 101808  PEL 21 31/15 =
1 2 g 3 N H YX I o 5
e ondur na desaription Aol 0 pips ()
101451 union nut Mléx1.5 8
1 101300 union nut MIi6x1,5 10 v
100943 union nut M17x1 10
5 101450  olive - 8 . '
© 101278 olive s 10 1 A 2
3 106168  solder connection = 10 G
100908  union screw M10x| 4 s Bl T i s e o
4 : 101230 magnetic nut Max1 1 101290 magnetic nut ~ M10xI
100909 union screw MI10x1 6 1
5 101246 olive % 4 101231 magnetic nut ~ M9x1 2 101060 magnetic shim -
6 101286 olive - 6

7 101880  gasket for pipe flange @ 21mm -

Gas taps

www.electrolux.mk 11



accessories and spare parts for PEL 22
bypass nozzles

&

s, andor e, s {m) pos. ordor 0. # {mm). 05 ardor n, s o) itom  ondur o, dasaription thread @ pigo lmm}
1106191 0 8 100428 0,65 I5 100407 1,00 1 101240 gas connecting piece horizontal M20xI,S 12710
2 100259 035 9 100429 070 16 100435 1,05 2 101241  gas connecting piece vertical M20x1,5 1210
3 100281 0.40 10 100432 0.75 17 100436 1,10 3 101235  gas connecting piece horizontal M20x1.5  12/10
4 100414 045 11100409 0,80 18 100437 1,15 4 101236  gas connecling piece vertical M20x1,5  12/10
5 100390 0,50 12100410 0.85 19 100438 1.20 _ 101365  gas connecting piece horizontal M20x1,5 12
5
6 100391 0,55 13 100433 0.90 20 100413 1,65 101366  pas connecting piece horizontal M20x1,5 14
7 100392 0,60 14 100434 095 21 100776 175
Ll
L2
1 2 3% 4°
Rom ondor . duseription pos ondor o, LI {wm} spindl drom}
I 101461  screw set 1 101201 25/17
2 4 -ring 8
% < AR ~dsing 2101449 35017 5
3 101331 adapter for flanged cable 10 10
4/2
101536  gasket for pipe flange 0 21 mm % feve, A%
106165  gaske! for pipe flange @ 27mm 4101202 25117 @ e
5 101203 28/13
€. %20.9.¢ ' R
G 1 2 3 4 5 6 ‘ 7 6 10 0
pos: order. no doscription threal 8 pipo- tmm) 6 101200 25/
101250  union nut M20x1.5 10 @]
1 101251  union nut M20x1,5 12
- = 7 106162 16/7
101427 union nut M20xL5 14 7
2 2 1012499 olive - 10 7
*E , 101248 olive . 12 8 106163 47
3 101428 olive - 14 8
4 101531  solder connection - 12 8
_ 100908 union screw M10xI 4
3 r 9 101823 35/2I
100909  union screw MI10x! 6 > 16 V3
10 0615¢ 29/19,5 J "y
6 101246 olive - 4 el d g 3
214 452
101286  olive e D o IIG AYE)
12101213 45/20
6 6
|4, ﬂ
13106151  39/7
< Q=
1 * 2 =
it o m. Bemription Abroad itam  ordor o, description thraad 14 106152 39/7

101230 magnetic nut M8xl

1 101290 magneticnut ~ MI10x|

101231 magnetic nst ~ M9xI

2 101058 magnetic shim -

12

www.electrolux.mk

6,5



accessories and spare parts for PEL 23

bypass nozzles

t 3 3\}\\ O

=¥ i 1
ke oNE W dostription 8 gipe {mm)
1 101244 gas connecting piece horizonal ~ M24x1,5 16/12
pot order no, o lym) [ o (tm) poe. ol o o (mu)
== 2 101245 gas connecling piece vertical M24x1,5 16/12
1106201 0 12100627 1,00 23 100699 1,55
> = 0 = 3 101463  screw set - -
2 100455 0,35 13 100628 1,05 24 100250 1,60
= = - 4 101462  o-ring - -
3100448 0.50 14 100649 1.10 25 100251 1.65
4 100458 0,60 15 100655 1,15 26 100263 1,70
S 100459 0,65 16 100659 1,20 27 10024 1 7S
6 100493 0.70 17 100664 1,25 28 100265 1.80
7 100494 0,75 18 100666 1,30 29 100266 1,85
8 100497 0,80 19 100667 1.35 30 100267 1,90
9 100546 0.85 20 100674 1.40 31 100268 1.95
10 100597 0,90 21 100677 145 32100273 2,00
Il 100598 0,95 22 100679 1.50 s, order oe. W2 (na) aindls (vl
1101204  25/17

(IS )

101336 35/19 8 g
10 10
3106166  25/17
@] @
1 {’ 2 : 39 465 G 6 6 4 102767  25/-
10
Tten ondes da. desaription thread o pigo (mm) @

101252 union nut M24x1,5 12 G
I 101253 union nut M24x15 16 —
101254 union nut M28x1.5 20
2 101255 locking ring - 12
101256 locking ring = 16 iy
4 101257  locking ring - 20
o 100908 serew MIOxI 4 - 2
100909  screw M10xI 6 5
5 101246 locking ring - 4 g po ot va desigtion thraad s order w0, dseription teeal g
6 101286 locking ring - 6 i 1 101059 magnetic shim  MI10xI 2 101045 magnetic shim  MOxI| o

www.electrolux.mk
13



Gas taps

14

gas taps EGA

EGA 31849 with pipe outlet

EGA 31248 with pipe and nozzle orifice

EGA 30750 with pipe outlet

em w0, ShOlto Ao {gg0 ESA
nla¥ 101629 31849
1
nla* 101638 31849
nla* 101074 31248
2
nla* 101072 31248
nla* 101193 31248
nla* 101073 31248
nla* 106034 31248
7]
nla* 106174 31248
nla* 101194 31248
nla¥ 101635 31248
nla* 101374 31248
nla* 101198 31248
4 nla* 101381 31248
nla* 101631 31248
nla* 101632 31248
5 101473 30750

*no louger available

dasuription

gas tap with
pipe outkt

gas tap

gas tap with
nozze outlet,
with nozzles

gastap with
pipe outlet

s inpit o duzales (o Lo pipa oatlet Aharmaconple Trent 2xing w2 syindly frm)
commtion connection {m)
daternal intarrial bypass
nozzle mzzhi wazle
MI2xI - - 0,55 - M12xI M8xlI MIi2xI 295/
(8mm) (8mm) 21 g‘w
M 12xI - - 1.00 - Mi2xI M8xI M2xI 29,5/
(8mm) (8mm) 24 6
MI12xI - - 0.35 - M12xI M8xlI M 12x1 29.5/ N
(8mm) (8mm) 21
MI12xI - - 0.35 - M12xI M8xlI M 12xI 29,5/
(8mm) (8mm) 13,5 8
MI2xI - - 0,35 MI17x1 - M8xI MI2x1 23/ S
(8mm) 13.5
MI2xI1 - - 0,35 M 17x1 - MExI M 12x1 23/
(8mm) 1325 f I8
5
M I2xI - - 0.35 M 17x1 - M8xI M 12xI 29,5/ "5_'
(8mm) 13,5 e
8
M12xI - - 0,35 M 17xI - M8xl MI12xi 23/ 5
(8mm) 13.5
MI2xI - - 0.35 MI17x1 - M8xI Mi2x1 17/
(8mm) 9 @ 6
8
MI12xI - - 0,55 M 17xI - M8xlI M 12x1 37/
(8mm) 17 g‘m
MI2x1| 0,85 - 0,50 MI7x1 - M8xl M 12xI 295/
(8mm) 21
MI2xI 2.00 0.70 0.35 MI17xI - M8xI M 12xI 29,5/ 6
(8mm) 21 g
MI12xI 0.85 - 0.50 M 17xI - M8xI M 12xI 29,5/
(8mm) 21 6
|4,
M12xI 2,20 1,20 0,55 M 17xI - M8xlI MI2xi 37/
(8mm) 17 4.6
MI12xI 220 1.40 0,70 M 17xI - M8xI M 12xt 37/ 6
(8mm) 17
MI2xI - - 0,50 - MI2x1 ID M8xI MI12x1 22/
(8mm) (8mm) 19 gzﬁ

www.electrolux.mk



EGA 26400 with pipe outlet, without ignition flame connection

EGA 26440 with pipe outlet, with ignition flame connection

4
o ocdr o sbstilate po, yp ECA 25 inpuk 6 pas il (mam} 0 hygass g8 vothot o pipe outhal liom) LT LUL2 {mm)
ozl (i} comection
nla* 101603 26400R M15xI 10 0,35 MI17xI 10 M8xI 3123
nla* 101608 26400R M15xI 10 0.35 MI17xI 10 M8xI 34/15
I nla* 101616 26400R MI5x| 10 0,35 M17xI 10 M8xI 31715
nla* - 26400R M15xI| 10 0.35 M17x| 10 M8xI
2 nla* 101648**  26400RD MI5xI 10 0,35 M17xI 10 M8xI 31/23
nla* 101605 26440R MI5xI 10 0.35 MI17x1 10 M8xI 31723
nla* 101658 26440R MI15xI 10 0.60 MI17xI 10 M8xlI 31/23
nla* 101612 26440R M15xI 10 0.35 M17xI 10 M8xI 22/15
nla* 101614 26440R M15xI 10 0.35 MI7xI 10 M8xI 22/15
nla* 101640 26440R M15xI 10 0,35 M17xI 10 M8xI 31/23
nla* 101618 26440R MI15xI 10 0.35 M I17xI 10 M10x1 34/15
3 nla* 101643 26440R MI5xI 10 0.45 M17xI 10 MIOxI1 34/15
nla* 101664 26440R MI5xI 10 0,55 MI17xI 10 MI10x1 34/15
nla* 101644 26440R MI15xI 10 0.65 MI17xI1 10 MI10x1 34/15
nla* 101650 26440R M13xI 10 0,35 MI7xI 10 M8xI 31/23
nla* 101651 26440R M1i5xI 10 1.10 MI7xI 10 M8xI 31/23
nla* 101652 26440R MI5xI 10 1,23 M17xI 10 M8xI 31723
nla* 101681 26440R MI5xI 10 0.35 MI17xI 10 M8xI 31/15
4  nla* 101646**  26440RD M I5xI 10 0.35 MI17x1 10 M8xI 31/23

*no longer available

**with throtile for main pes line

www.electrolux.mk

spndie (mm)

o
)

(=)

Gas taps

15



EGA 26400 with nozzle outlet, without ignition flame connection
EGA 26440 with nozzle outlet, with ignition flame connection

tm order oo, sekatitate Mo, typn EGA s inpat 9 plpe inpir () o moezles (mm)  miaing pige thermocaple LZ82 {om) spindle {om)
connoelion connection
axtornal intaraal bypss wozzle
ozl nozzlo
nla* 101604 26400D M I5xI 10 - - 0,35 M17x1 M8xI 22/15

| nla* 101607 26400D Mi5x|1 10 o - 0,35 MI17xI M8xl 31723

nla* 101617 26400D MI15xI 10 - - 0.35 M17xI M8xl 24/15
nla* 101797 26400D Misx| 8 - - 0.35 MI17xI M8xl 24/15
nla* 101609 26400D M5x1 10 0,60 0.35 M17xI M8xl 24/15
nla* 101667 26400D MI5xI 8 0,60 0.35 MI7x I M8xl 24/15
nla* 101675 26400D Mi5x| 8 0,95 0.70 M17xI M8xI 24/15
nla* 101619 26440D MI5x1 10 - - 0,35 MI17x1 M38xl 31/23

~

- G
19 19
S|

!\l
[=)
(=}

8
3.3
6
nla* 101613 26440D Misx| 10 - - 0,35 M17xI M10xl 34/15 D’:
7
8
6
8

G 3
nla* 101615 26440D  MI5x| 10 - E 0.35 MI7xl M8xl 3115 v
nla* 101606  26440D  MI5xl 10 L = 035 M 17xI M8xl 31/23
. nla* 101663 26440D  MI5x| 10 2,05 1,85 035 MI17x| M8xl 31/23
ﬁ‘ nla* 101983 26440D  MI5x| 10 135 0,66 0.35 MI7xI M1 0xl 34/15
@ nla* 101668 264400 MI5xl 10 135 1.20 0.35 MI7xl M1 0xl 34/15
o nla* 101642 26440D  MI5x| 10 1.55 0,80 0.45 M17xI M10xl 34/15 Q
4 nla* 101767 264400  MI5xI 10 1.55 1.40 0.45 M17xI M10xl 34/15 3
nla* 101731 26440D  MISxl 10 2,05 1,05 0.55 MI7x1 M1 0xI 34/15
nla* 101641 26440D  MI5x| 10 2,05 1.90 0.55 MI7xl M1 0xl 34/15
nla* 101633 26440D  MISxl 10 1.40 0.80 0,35 MI7xl M8xl 31/23
nla* 101634 26440D  MI5x| 10 185 1,05 0,50 MI7xl M8xl 31123
nla* 101647 26440DF M1 5xl 10 ] > 0.35 M17xl M8xl 31123 6
_ nla* 101653 26440DF  MI5x| 10 = 140 0.85 MI7xl M8xl 31123 g
T 101654 26440DF  MI5x| 10 5 1.80 1.10 MI7x | M8xl 31723
nla* 101655 26440DF  MI5xl 10 : 2,05 1.25 MI7xl M#xI 3123

*no lonper avaitabie

16 www.electrolux.mk



EGA 24197 with pipe outlet
EGA 24197 with nozzle outlet

hem  ondor no. sabstiita no. dosaiption
ala* 101620 24197R
ala* 101621 24197R
ala* 101636 24197R
{
alat 101666  24197R
ala* 101657  24197RD
nla* 101622 24197D
nla* 101624 24197D
2 ala* 101625 24197D
ala* 101623 24197D
ala* 101649 24197D
nla* 101659 24197D
nla* 101656 24197D
3
ala* 101662 24197D
ala* 101665  24197D
ala* 101764 24197D
ala*  106040%* 24197D
4 ala*t  106041**  24197D

*no longer available

**outpul lor ignition flame closed

s nput g mzzlss [m): g outlol mizing pipe thermecaupla /b2 tum) pindie. (mm)
contaction connocdisn
extornal a0zl intnmal noazle lgpres noizle
- - 0,35 - M3Bx | 35/21
- - 0,35 - M8x | 34/15
Or
8 |
- = 0,35 Migxls M38x| 34/15 =
o [2mm 3
 E— 5 TSy R PIT -
9
6,5
2 F 0,5 = M8x | 3521 & G
2 z 0.35 - M22x1.5 M38x | 35/21 g!:
- - 0.35 - M22x1.5 M38x |1 34/15
6.5
Q
MI85 1o 0.35 22x1.5 M8x | 34/15
o 1 2mm - 35 - M22x1.5 X 15 — g
T
6,5 »
o
- - 0,35 - M22x1,5 M8x | 34/15 o
2.60 1.35 0.40 - M22x1,5 M38x| 34/15 Ql
2,20 RE 0,35 - M22x1,5 M8l 34/15 8
4,40 2,50 1,65 - M22x1.5 M38x| 35721 gzﬁ
200 1.00 035 - M22x1.5 M38x| 34/15
1.60 0.80 0.35 - M22x1.5 M38x | 34/15 6.5
1,60 1.00 0,35 3 M22x1.3 M8x | 34/15 9
- - 0.35 - M22x1.,5 M8x| 34/15
- - 0,35 - M22x1.5 M8x | 34/15 =4
9
6.5

www.electrolux.mk

17



Gas taps

accessories and spare parts for EGA 26400/26440  external nozzles M12x1
bypass nozzles

S— I

pos. ordor 1o, ¢ {mm) pod. order no. o i) o orddz . 9 fog}
'"]' "'MT "":m "';' W “;'5 il T piibies i I 100974 0.80 18 100287 145 35 100309 2.30
. "]a* 0';3 r = 4 032 77 e A, 2100279 0.82 19 100700 1,50 36 100668 235
— “h* S I '003? O'Tf ;0 100343 4 3100249  0.85 20 100301 1,55 37 100294 2,40
el L 0 000 Lo L P 4 100283 090 21 100665 1,60 38 100749 245
4 100364 0,35 12100368 0,60 22100348 1,10 T TR e TR e e
b bes ) 22 e 05 2 )
5 nlat 0,37 13100361 0,65 23100359 1,20
6 100282 0,95 23 100288 1.70 40 100416 2.55
6 100353 0,40 14 100357 0.70 24100363 1.50 — 15 e >
N LRy e e b Ll o 284 1. 2. 75 ; T
7 100366 0.44 15 100358 0,75 25 100349  1.80 Pl T e T > LR Tty
2 "o 5) 22 % 42 290" | B2F
8 100367 047 16 100328 0,80
9 100285 1.10 26 100302 1,85 43100305 3.00
200 loferavilebip 10100243 1,12 27100290 1,90 44100752 3.20
Il 100663 1,15 28 100740 1,95 45 100296 3,30
"' \) s @ 2 100306 1.20 29 100291 2,00 46 100297 3.45
1 2 3 4 13100975 125 30 100303 2,05 47 100298 3,50
14100286 1.30 31100292 2,10 48 100299 3.70
am okt no dostription thread o pipe (mm) = =
; . 15 100300 1.35 32100744 2,12 49 100763 3.80
100941  union nut M15x1 8
16 100669 1,37 33 100308 2,15 50 102794 3,85
| 100942 union nut M15x1 10 - — = . A
- 17 100307 1.40 34100293 220 51 100762 4.10
100943  union nut MI7x1 10
. 101450 alive - 8
101278 olive % 10 - internal nozzles
3 101285  union screw M8x1 4
4101284  olive 5 4 . ¢
G g orber i o ) o5 atdor . s (um) s onkr s o fnm)
" O 1 100657 060 8 100315 095 15 100316 1,70
1 “ 2 3 < 2100310 0,66 9 100312 1,05 16100951 1,75
3100319 0.75 10 100313 1,20 17 100244 1.85
Lo oo e, N i 4 100393 0,78 I 100238 135 18 100314 1,90
| 100926 centringring MI17xI 3 101230 magneticnut  M8xt S 100311 0.80 12100322 140 19 100274 2.00
2 101394 nut M17x] 3 101233  magneticnut  MI10x] 6 100634 0.85 13100773 1.55 20 100317 2.0
7 100321 0,90 14 100318 1,60 21 100678 2,50

Gas taps

internal nozzles for gas tap with fixed external nozzle

1 gl
Rem  onder no.  duscription Lype gas: Lap. itom  olor oo Qesriion Lype gat tap,
1101051 magnetic shim 31849 2 101060 magnetic shim 26400 g ;
31248 26440 B onler o, v (mm) e Vonlni w0 9nm] N orlor m, il {mie) i |
30750 1 100395 1,40 2 100396 1,80 3 100397 2.5

www.electrolux.mk
18



accessories and spare parts for EGA 24197 external nozzles M15x1
bypass nozzles

=i

posooder m 8 fonn} por . onder na 9 fmm) P8 order no, & {m) s ufr w. o () LS t ) o adrre o {om)
| nla* 0,23 9 100354 0.50 17 100346 0,85 1 100451 1.50 - 7 100456 250 I-3 - I.OOI-'&OG 3,70
2 nla* 0,30 10 100355 0,52 20 100347 0,90 2 100337 1,60 8 100457 2,60 14 100332 3,80
3 nla* 0,33 11100356 0.55 21 100362 1,00 9 100453 2,00 9 100331 2,70 15 100335 3,90
4 100364 0,35 12100368 0.60 22100348 1,10 4 100338 210 10 100698 3,00 [6 100336 4,00
5 nla* 0,37 13 100361 0.65 23 100359 1,20 5 100330 2,20 11100339 340 17 100329 4,40
6 100353 0.40 14 100357 0,70 24 100363 1,50 6 I00335 2,30 12100334 3,50
7 100366 044 15 100358 0,75 25 100349 1,80
8 100367 047 16 100328 0.80

internal nozzles

="
1 2 9 3 s 4 Q [ ordor 0. 0 {nﬂil L) arlor v, [ (W)’ pos. onbf 0.

*no lonper available

o {me)
I 100377 065 & 100341 115 14 100658 180
fow  orke ot dsacripon thraad 1 e fom) 2 100496 0.73 9 100344 1,20 15 100323 1,85
1 100944 union nut MI8xL5 12 . 3 100378 0,77 10 100647 1,30 16 100345 1.90
2 101273  olive - 12 4 100492 0.80 11100648 1,35 17 100324 2,10
) 101285  union screw M8xI 4 5 100340 0,85 12100342 1,40 18 100327 235
4 101284  locking ring - 4 6 100343 1,00 13 100656 1,60 19 100398 2,50
! 100495 1,05
LI .
fom e . deseriptinn Uhesad
; 101230  magnetic nut M8x |
101233  magmetic nut MIOxI

"~

101058  magaoetic shim

Gas taps

www.electrolux.mk
19



Gas taps

20

gas taps EGA/PEL 20/21

PEL 20 with pipe outlet, without ignition flame connection

PEL 21 with pipe outlet, with ignition flame connection

ltom anfor o0, type s input o plpo (mon o bypss mzlo i) g2 oullel o pipe oublat {mn) tharmoceaplo Lizi2 tmn) spinlla (mm)
conneation
101608  PEL20R MI5x1 10 0,33 MI7x1 10 M8xI 34/15 g
7
8
I 101616  PEL20R MI15xl 10 0.35 M17xl 10 M8xl 31715 5
D
8
101603  PEL20R M15x] 10 0,35 M17xl 10 M8x1 3123
7
2 101648* PEL20RD M1 5x1 10 0.35 M17xl 10 M8xl 31723 g
8
101605  PEL2IR M13x| 10 0.35 MI7x1 10 M8x | 31/23
101658  PEL2IR MI15x1 10 0.60 MI7x1 10 M8x! 3123
101612 PEL2IR MI5x1 10 0.35 MI7xl 10 M8xI 22/15 =
T
101614  PEL2IR M15xl 10 0,35 M17xl 10 M8xl 22/15 ”
6,5
101618  PEL2IR MI5x1 10 35 MI7x1 10 M10x1
101643 PEL2IR MI5xI 10 0.45 MI7xl 10 M10xl 34/15 Q
3 101664  PEL2IR MI5xl 10 .55 MI7x1 10 M10xI 34/15 3
101644  PEL2IR MI5xl 10 0,65 MI17x1 10 M10x1 34/15
101640  PEL2IR MI5x1 10 .35 M17x1 10 M8xl 31/23 3
6.5
101650  PEL2IR M15xl 10 0,35 M17xl 10 M8x! 31/23
101651  PEL2IR MI5xI 10 1.10 MI7xl 10 M8xl 3123 IE%
101652 PEL2IR MI5xl 10 1.25 M17xl 10 M8x | 3123 '
101681  PEL2IR MI35xl 10 0,35 MI7xl 10 M8xI 3115 %
e
8
4 101646% PEL2IRD VIEN 10 0.35 MI17x1 10 M8xl 31/23 @:46

*with ihrotile For nin gas line

www.electrolux.mk



e ——————————— . i

PEL 20 with nozzle outlet, without ignition flame connection
PEL 21 with nozzle outlet, with ignition flame connection

2 4
kv ondér mo. type us ngat o 7ipa |mm| 9 wide (mm) mizleg pipe {bormocoapla 10,12 (wm) wiudls (mm}
cannection cannaction
oxterml qozzla interal pozzie bypess nazzlo
101604 PEL20D IEN 10 - - 0.35 MI7xI M8x | 2115 gz'ﬁ
101607  PEL20D VIR 10 % 2 0.35 MI7xI M8x| 31/23 5
e 101617 PEL20D MI5xI 10 - = 0.35 MI7xI M8x| 24715
101797  PEL20D MI5xl 8 = = 0.35 MI7xI M8x| 24/15
101609  PEL20D MisxI 10 2.20 0,60 035 MI7xI M8x| 24/15 _:
2 101667 PEL20D M1 5x1 8 2.20 0,60 0,35 MI17x1 MBx| 24/15 5
101675  PEL20D Ml 5x1 8 2,60 0.95 0,70 MI7xI M8x | 24/15
101606 PEL21D Ml 5xl 10 2 - 035 MI7xl MB8x| 31/23 QE'B
101619 PEL21D M1 5x1 10 - - 0.35 MI7xI M3x| 31/23 @3
6
3101613  PEL2ID MI5xI 10 : - 0.35 MI7xI M10xI 34/15 3
e
-
101615 PEL2ID MI5x| 10 - . 035 MI7xI M8x | 3115 —
="
101633 PEL21D MI5xI 10 1.40 0.80 0.35 MI7xI M8x| 31/23 1
101634  PEL2ID MI5xI 10 1,85 1.05 0.50 MI7xI MBx| 3123 g 2
3
101983 PEL21D Mi5xI 10 1.35 0.66 0.35 MI7xI M10x| 34/15 2
101668  PEL21D Ml 5xI 10 1,35 120 0.35 MI7xI MI0x| 34/15 ©
4 101642 PEL2ID RN 10 1.55 0.80 045 MI7xI M10xI 34/15 Q;
101767 PEL2ID MI5xI 10 1,55 1.40 045 MI7xI M10xI 34/15 L
101731 PEL2ID M sxl 10 2,05 1,05 0.55 MI7xl M10x| /15
101641 PEL2ID  MISxI 10 205 1.90 055 MIZsI MIoxl 34/15
101663  PEL2ID Misx| 10 2,05 1.85 0.35 MI7xl M8x| 31/23 @E-
101647 PEL2IDF Ml 5xI 10 < - 0,35 Mi7xl M8x| 31/23
101653 PEL2IDF  MI5xI 10 ~ 1,40 085 MI7xI M8x | 31/23 6
" 101654 PEL2IDF  MIsxl 10 = 1.80 1.10 M1 7xI M8x| 31/23 |4,
101655 PEL2IDF  MI5xI 10 z 2,05 1.25 MI7xl M8x| 17 .

www.electrolux.mk
21



gas taps EGA/PEL 22

Gas taps

22

{

£5
NN

%

1
o order type o il 2 Jipe inget (e  bypess oontls {mmh s oullel o pipe sutht {m) \wrmaie W2 {mm) amdle (mml
connpction
101621  PEL22R MI8x1.5 12 0.35 MI8x1.3 12 M8x] 34/15 g
8
101636 PEL22R MI8x1.5 12 0.35 MI8xI.5 12 M8x] 34/15 6.5
9
|
101666 PEL22R MI18x1.5 12 0,35 MI8x1.5 12 M8x] 34/15
9
6.5
101620 PEL22R MI8x1.5 12 0,35 MI18x1.5 12 M8xI 35/21 16
2 101657 PEL22RD MI18x1.5 12 0.5 MI8x1.5 12 M8xI 35721 ;

N
-
iom orfr o, type £ dnpist & g Ut {w) » hadls (om) il fige Wemessple U /A2 syindls {om)
witoroel nazzlo ol auzdle byess noutlo conoaction connaslion
106040* PEL22D MI8xL,5 12 - - 0.35 M22x1.,5 MB8xI 34/15 6.5
| 9
10604 1* PEL22D MI8xIL.5 12 - - 35 M22x1.5 M8xI 34/15 N
101625  PEL22D MI8xL.S5 12 - - (35 M22x1.5 MB8xI 34/15 2
6.5
101622  PEL22D MI8xIL,5 12 - - 0.35 M22x1,5 M8xI 35/21 @
o)
101624  PEL22D MI8xLS5 12 - - 0.35 M22x1.5 MB8xI 34/15 6.5
9
101623  PEL22D MI8x1.5 12 - - 0,35 M22xl1,5 M8xI 34/15
101649  PEL22D MI8xE5 12 2,60 1,35 0.40 M22x1.5 M8xI 34/15 g
101659  PEL22D MI8xI,5 12 2.20 1,15 0,35 M22x1,5 M38xI 34/15 §
101656  PEL22D MI8xL,5 12 4,40 2,50 1.65 M22x1.5 MB8xI 35/21 gzﬁ
3
101662  PEL22D MigxL,s 12 2,10 1,00 35 M22x1,5 M8xI 34/15
101665  PEL22D MI8xL,5 12 1.60 0.80 35 M22x1.5 MB8xI 34/15 - 6.5
101764  PEL22D MI8xi,5 12 1.60 1,00 §35 M22x1.5 MB8xI 34/15

*ignition line outpul clesed

www.electrolux.mk



accessories and spare parts for EGA/PEL 20/21 bypass nozzles PEL 20/21

===

ry ",4_.
a 9 éal O 6 s i olerne o W oea b m) e ondir o w b}
Y
1 2 3 4 5 6 76 1 100408 0,35 10 100555 0.80 18 100532 1,20

2 100553 040 I 100527 085 19 100394 125
by sl - o i Lud L 3100554 0,45 12 100528 0,90 20 100533 130
[BF%_unnn il s 4 100526 0.50 13100556 095 21 100549 1,35
P PSR uoia.nut Mibxh 1A 5 100550 0.55 14 100529 1.00 22 100534 140
L Lot pORL 8 6 100551 060 15 100557 1,05 23 100558 155
WL pliva i E 7 100548 0.65 16 100530 1,10 24100559 170
Uil ol : ! 8 100552 070 17 100531 115 25 100547 175
3 100926  centring ring MI17x1 9 100278 0.75
4 101394 nut MI7x1
100908  screw M10x] 4 external nozzies M12x1
100909  screw MI10xI 6
6 101246 olive . 4
7 101286 olive . 6
pe-order ne. o {mmt as. ader W, ¢ lom) o arder. no; o (mm}
[ 100974 080 18 100287 145 35 100309 2,30
2 100279 082 19 100700 150 36 100668 235
3100249 0.85 20 100301 1,55 37 100294 240
4 100283 090 21 100665 1,60 38 00749 245
o ey s ey 5100280 093 22 100239 1.65 39 100326 2.50
101230 thaddetic v M8xI 6 100282 095 23 100288 170 40 100416 2,55
1 101231 magnetic nut MO9xI 7 100284 1,00 24 100878 1,75 41 100304 2.60
101290  magnetic nut M 10xI 8 100662 1,05 25 100289 180 42 100295 2.70
2 101060 magneticshim - 9 100285 1,00 26 100302 1,85 43 100305 3,00
10 100243 1,12 27 100290 190 44 100752 3.20 G
front parts Il 100663 1,15 28 100740 195 45 100296 3.30
12100306 1,20 29 100291 200 46 100297 345
~ 13100975 1,25 30 100303 2,05 47 100298 3.50
\ LI 14 100286 1,30 31 100292 200 48 100299 3.70
'::2 IS 100300 135 32100744 212 49 100763 3.80 -
16 100669 137 33 100308 2,15 50 102794 3.85 g'
17 100307 140 34 100293 220 51 100762 4.10 a
PEE St s sl internal nozzles 7

106167 PEL20 22/15

101805 PEL21  22/is B
g“"ﬁ 4.6

101801 PEL20  31/23 3
101803 PEL2I  31/23 o s, plm . Me mwm edml e mheke ol

2 101809 PEL20  24/15 : : L 100657 060 8 100315 095 15 100316 170
2100310 0.66 9 100312 1,05 16 100951 175

3 .} 3100319 075 10 100313 1,20 17 100244 1.85

101810 PEL20  34/15 ~ - 4 100393 0,78 100238 1,35 I8 100314 1,90
Ty g g 5100311 0,80 12100322 1,40 19 100274 2,00

6 100624 085 I3 100773 1,55 20 100317 220

7 100321 0,90 14 100318 1.60 21 100678 2.50

4 101802 PEL2I 31123
[%fg
4.4 46 . g
| internal nozzles for gas tap with fixed external nozzle

101206 PEL2I  2%/i5
5 - _ s( |8

101807 PEL2I  31/23 ARG

101808 PEL2l  31/I5

6 6,5 oo ma o frm) po. o o, o () pok onder 1o, o (mi)
101811 PEL20  31/15 8 1 100395 .40 2 100396 1,80 3100397 2,05

www.electrolux.mk
23



accessories and spare parts for EGA/PEL22
bypass nozzles

2@ 3% 485‘ 66 m

1
[ order w, o (oo pos: ordar no. o (mm [ wder ge. i (mm)
. e - R 1100259 035 8 100429 070 15 100435 1,05
I 100944  union nut MIgl,5 12 2100281 0,40 9 100432 0,75 16 100436  1.10
2 101273 olive 5 12 3100414 045 10 100409 0,80 17 100437 1,15
3 100908  screw MI0xI 4 4100390  0.50 Il 100410 0.85 18 100438 1,20
4 100909 screw MIOxI 6 - 5100391 055 12 100433 090 19 100413 1,65
5 101246 lockingring s 6 100392 0,60 3100434 095 20 100776 1,75
6 101286 locking ring < 6 7 100428  0.65 14 100407 1,00
external nozzles
< -
1P “
4
Car e duseription for bermocntpla
101230  magnetic nut M8xl pobe oot oo, o ) WS ordor to, v tmn) P o o (mm
I 101231 magnetic nut MOxI L 100451 1,50 7100456 2.50 13100406  3.70
101290  magnetic nut MI10xI 2100337 1,60 8 100457 2,60 14100332 3,80
2 101058  magneiic shim - 3100453 200 9 100331 2,70 15 100335 3.90
4100338 2,10 10 100698 3,00 16 100336 400
front parts =
5100330 220 11100339 3,40 17 100329 440
'17 L 6 100333 230 12100334 3,50
L2

internal nozzles

o,
P adar no. LU/A2Z (mm) spindlo. {mm)

G I 101823 35/21 i
Qzﬁ g pos. ordor 60, 8 {nim) poss oefae 10 ¢ (o) fos. ondor o, o mm)
| 100377 0,65 8 100341 1,15 14 100658 18O
& CAUmOT S = ., 2100496 073 9 100344 120 15 100323 .85
g g 3100378 077 10 100647 130 16 100345 1,90
4100492 080 Il 100648 135 17 100324 230
® 2 _cimael O 6.5 5 100340 085 12100342 140 18 100327 235
§' 4 106170 34/15 4 6 100343 100 13 100656 160 19 100398 250
@ 5101822 3415 1. 7100495 1,05
' ¥ 9 _
6 106171 3415 65
gas taps JUNKERS
T ondar o, sabstitote. dascription es npt gus ool therimocadple cannection L Oror) apindls {om)
1 nla* 101457 CHII0 M20x1.5 M20x1.5 M8xI ' 207 _
, Mot 101457 CHI20 M20x1.5 M20x1,5 M8xI 20,7 @
nla* 101798 CEI40 38" 3/8" M8xl 207
3 alat 101630 CI330 121 1124 A M 10xI 20,7

*no longer available

www.electrolux.mk
24



4301 order no, sibstitits ug. deseription s inpat s ol bsemogauplo conaaction L (om) spindlo (mm)
1 nla* 101630 CH340 112¢ 1D M2*ET MI10x] 20.7
2 nla* - CH430 3/4*1D 3144 ET MI10x] 20,7 @)
3  nla* - CH440 3/4* 1D 3/4* ET M10x] 20.7

*uolongeravailable

gas taps PEL, alternatively as substitute for JUNKERS

Mom  ondes Mo, discription 28 ot o pipe IR {am) o dypis oazle (mm) o oitlot ¥ 7% e (mm) termocauplo L fmm} girfle ()
conaaction
| 101457  PEL22S/V M20x1.5 12 0.35 M20x1.5 12710 M38xl 25
2 101798 PEL22S/V 3/8+ 0.35 3/8 - MI0x] 25 @]
3 101630 PEL23S/V 1/2% 1D 0,35 124 ET - MI10x] 25

accessories and spare parts for JUNKERS

\&.o r

& 2 o o dewrigin fr i s p
1 101218  spindle extension @ 8mm
fom  whrm desipin o e 28 2 101219  spindle extension 6x4,6mm gg;
1 101232 thermocouple nut M8x1 3 550396  spindle extension 6x4.6mm CH4
101233 thermocouple nut M10x1 CHI_ 4 100945 cotter pin 3,2x10mm =
2 101060 magpetic:shim 5 101285  union screw M8xI, 0 4mm CHI_
3 101061  magnetic shim CH3: . CH3
— 6 101284  olive o 4mm CH4
4 101062  magnetic shim CH4 =
7 345200 micro switch gg;ig},ﬁg

www.electrolux.mk

Gas taps

25



Gas taps

26

gas taps STN3R

&>

4
o orller g8 input 9 gire (mm) o Lypss muzk from pilon conaestion £ dovat o pip outlet (min) L1742 (wm) sufable for spindle {me)
106176  3/8+ 8 - MI0xI 3/8" 8 17/7 Morice "
| i |
106177  3/8+ 8 - MI0x| 3/8* 8 28/-
106188  3/8 8 - M10xI 3/8" 8 34/- 3
106178 3/8" 8 - MI0xI closed 3/8" 8 28/- Solymac 0
2
106179  3/8* 8 - MI10x1 closed 3/8* 8 60/- Solymac
106141 3/8 8 - M10xI 3/8" 8 67/9 Bonnet
3 (s
6
l061g0  Pipcflange 2 MI0xI MI8x]5 - 38/-
02lmm 7
4 106182  pipe flange - - M10xI| 3/8* 8 27/- Cometto L7
106181  pipe flange - - MiOxl| 3/8« 8 25/- Solymac
8
10

3
tam  order oo, o5 npat o i () ® byposs aoz2le () ‘R outlit o plpe outlot (ma) Usrosodple Ltz tem) ditablo for spladle (o)
connoction
106183  pipe flange 0 21lmm - 3/8“ET - M9x! 20/-
106184 pipe flange 0 2lmm - 3/8*1D 10 MOx] 2/- 7
1 106185 pipe flange 0 2lmm - 3/8* 1D 10 MOxI 23/- Charvet N
106186  pipe flange 0 2l - ¥ID 10 MoxI 20 Charvet
2 101962 pipe {lange - MI16x1,25  edge-llange M8xl 28/14 Teeno MCM .
6,5
101988  M20x1.5 12 M20x 1.5 12 M9x] 22/16 Teecno MCM 6
3 e
106052  M20x1.5 12 M20x1,5 12 M8xl] 39/18 Kippersbusch gzﬁ
4 106053 pipe flange - 3/8« 10 M8xl 39/18 Kiippersbusch

www.electrolux.mk



gas taps COPRECI

hom  oder o e gas iopat 4 pipe ine {oe) v dypess mome s outlet # pipe gatlat (mm) tbormacodyl, ¢amwttion L1/62 imm) syndle {om)
1 106036 CAIL-5200 pipe flange - 0.35 MI4x1.5 6 M8xl 24/16 @w
6
2 109506 L-3200 MI8xl,5 12 0,90 MI8xI.5 12 - 3012
109503 CAL-3200 MI8x1.5 12 0.55 MI8xI.5 12 M8xI 30/12
109509 CAL-3200 MI8xL5 12 0.80 MI8xI.5 12 M8xI 30/12
109504 CAL-3200 MI81,5 12 0.90 MI8x1.5 12 M8xl 30/12 -
109508 CAL-3200 MI81.5 12 1,20 M I8x1.5 12 M8xl 30712
> 109505 CAL-3200 MIgl5s 12 1,30 VIEN 12 M8xI 30/12
109500 CAL-3200 MI8xI,5 12 0.55 MI8x1.5 12 M8xl 46/12
109501 CAL-3200 MI8x15 12 0.90 MI8x1.5 12 M8xI 46/12
109502 CAL-3200 MI8x1,5 12 1,20 MI8x1,5 12 M8xl 46/12
G.
accessories and spare parts for STN3R accessories and spare parts for COPRECI
- 7]
9 .0.0 N . % :
1 2 9 3 4 5 »
©o% B
om onder na. deseription thread v Py (mm) 1 2 3 4 4
1 101251 union nut M20x1,5 12
2101273 olive : 12 b wlew ddiphe tireal o e fng)
3 101284  olive X 4 | 100944  union nut MI18xI.5 12 —
4101964  clamp : 2 2101273 olive . 12 =
s |0M51 mogmelcshim = & 3 101060 magnglicshim  CAL-3200 - =
6 101058 magnetic shim - = - 4 106173  magnetic shim CAL-3200 - e

www.electrolux.mk 27



gas taps SABAF

%5,

Z

Gas taps

28

1 2 3 4
Mem  oxder no, tip 9 g5 Mgt (o) o bypass nozzta fiom) ous it # e bltkat (). front Dting \bermocaplo evivaction LI/ (me) ssindle (mm)
101747  Sabaf 10 14 0,40 /4 8 MI13xI M8xl 23/17 T4
1 101748 Sabaf 10 14 0,50 174 8 MI3xI M8xI 23/17 @:
101749  Sabaf 10 14 0,74 174 8 - M3xl 23/17
2 101396 Sabafl0 16 0 174 8 - M8xl 26/12
101357 Sabaf10 16 0,52 174+ 8 - plug-in connection 26/12 6.5
8
3
101890 Sabaf10 16 0 174 8 - plug-in connection 26/12 65
8
4 101994 Sabaf 10 16 0,65 174 8 - o 2mm 26/12
‘ 16.5
8
1
item  ondor w ty7e @ 208 inpot. o fipo {m) o bypms wzk (m) s oatlel o gigo outlet {rom) thurmocsaple connection LR frm) apinllo (um)
I 106025  Sabaf 10 o 18mm - 0,27 MI13x1 1D 8 M8xl 35/15 g“
2 106062 Sabaf10 ol6mm - 0,25 MI13x1 1D 8 plug-in connection  45/11
6.5
8
3 101458 Sabafll 174+ 8 0 174+ 8 plug-in connection ~ 40/15

accessories and spare parts for SABAF

Ve

om  order ne. descrition hread © 7ips (wa) fom  octar o0, dstription
E ] 527()6756 i uni;)n Vnuti = W 87 o 1 101051  magnetic shim
2 101477  union screw MI3x1 8 2 101751 holder tor pipe flange
3 101277  olive - 8 3 101376  gasket for pipe flange

www.electrolux.mk



various gas taps

2
im  ondor m. produeer s inpix o bypss nozzlo (om} s oot o pipo outlet {wm) Ahermocadplo. comnnction LI/42 {mo) spindle (mm) aczessorios fpaga ‘301
1 101697  Siral pipe flange 0,42 1/4*ET 8 M8xI 23/12 @ types A,C
1 101699 Siral pipe flange 0,85 1/4°ET 8 M8xI 23/12 o5 types A.C
| 8
A 106013 ECA pipe flange - IV4“ET 8 M8xI 20/13 65 types A,C
| 8
3 106015 Imit pipe flange 0.45 12 (M6x0.75)  M8x] 22/15

@ types A,C

G
0
=}
3
72}
o
o
3

ftom  ordar no. prodocer s fnpat B bypass nonla (o) o8 oullet 0 Jipe- autlet (o) thermocenple conneclion L/L2 lom) syindle. {iom) nocagsoriss {page 30)

1 101891 SKG pipe flange 045 flanged M8xI 27712 types B.C

2 101829 SKG  pipe flange  0,32/0,57 MI3x1ID 8 M8x 30/13 @Zﬁ typesA.EF

3 101825 SKG pipe tlange 0,40 MI3xXI D 8 M8xI1 30/13 types A,D,F

www.electrolux.mk
29



Gas taps

30

fom ordar 1m0, appilaation prodacer s ool  ootlet the comoughe eoingction L/L2 {mm) spindla (wm)
1 101420  cookery MAW M22x1.5 M22xL.5 MI0xI 35/25 pz
2 101423  oven without small setting MAW M22x1.5 M22x1.5 MI10xI 35/25 8

accessories and spare parts for diverse gas taps

D

Jtom  order no. duseription thread o fipe (o}
I 520636  union nut /4= 8
2 101477  union screw MI3xl 8 T G el e e bl o 30 g . 29
3 101277 olive - 8 1 101828  holder for pipe flange D
2 101832 holder for pipe {lange E
3 101827 gasket F
4 101826 micro switch E
5 101038 ignition switches F

S
4

co¥

Hom  ondar no. deseription Uy (sutabln (o @25 \aps puge 28)
1 101051  magnetic shim A
2 101060 magnetic shim B
3 101351 holder for pipe ftange G
4 B

101376

gasket

www.electrolux.mk



	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18
	Page 19
	Page 20
	Page 21
	Page 22
	Page 23
	Page 24
	Page 25
	Page 26
	Page 27
	Page 28
	Page 29
	Page 30



